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   : - 1 -ا���ـــــــ��� 


�	� ا���زات  ��
  . cal/mol.Kو    J/mol.Kو    L.atm/mol.K	ـ   Rأ��� 
  
  

 = cal/mol.K  =  8,31 J/mol.K = 2 L.atm/mol.K0,082   R     :ا�"!اب
 

 
   : - 2 -ا���ـــــــ��� 

  )atm , T2 1(    2إ�E ا�)��'    )K   ،5 atm°298(   1<=>;د *1ل *( :�ز *8��9 67ل 5)1ل 123س 
�	� در.' ا�)-ارة *( ا�)��' 

� '�H�IJأ��� در.' ا�)-ارة ا�  T2 

� '�K7ا�;ا '
�L8 ا�M -��=ا�  ∆U 
 W  ا�S<T ا�>QRJ *( ط-ف ا���ز �
� S3�V=ا�)-ارة 67ل ا� '�<W  Q 

� 8Y��LZ[8 اM -��=ا�  ∆H  
  

  ∆298K1 = T2 T   ،   U = 0∆  ،3985,6 J-W =    ،   Q = 3985,6 J  ،H = 0 =   :ا�"!اب
 

 
   : - 3 -ا���ـــــــ��� 

*( *)1Kل   Q�W-5(2 mol/L)   h*100 mlه    1K(* )*   NaOHل  1dZ100 mlم 	>Qج   (C=200 J/K)دا1��W S7ر<>=- `T=_ ا�)-ار<'  
HCl  هQ�W-5  (2 mol/L)   ار;d<	 در.' ا�)-ارة �TV543، ار°C.  
 Cpsolution = 4180 J/Kg.K ;   NaOH = 40 g.mol-1   ;   HCl = 36,5 g.mol-1  :  إذا K3>� أن ا��T' ا�)-ار<' �1K(<Kل  

 :أ��� �
 ا�K=2' ا63�V=<K� '���<.tت - 
 - S3�V=ا�>)-رة 67ل ا� '
�Lا� 

' ا�>)-رة 	��Y�J' �>1ل *( - �Lا�  SWS3�V=*  

   = ’gK0,0153 =  m    ،    J 11350Q =     ،     J/mol  56750Q   :ا�"!اب
 
 

   : - 4 -ا���ـــــــ��� 


TL' *( ا�J)�س C  �I=K=W° 18ا�>�ء J3; ا�;ر.' *(   g 200 <)=1ي EK3 (C=200 J/K)دا1��W S7ر<>=- `T=_ ا�)-ار<'   hyZm = 100 g 
  .J3  80°C; ا�;ر.'

  <K� '>ا�)-ار 'Tأن ا�� �<K3 ءإذا�  :Cpeau = 4180  J/Kg.K   20,2  و در.' �-ارة ا�=1ازن °C 
    Cuا��T' ا�)-ار<' �>T;ن ا�J)�س  أ��� �

  K.1-gKJ. 81= 3 cuivrepC-1   :ا�"!اب
 
  

   : - 5 -ا���ـــــــ��� 

1.  EK3 -=<>1ر��W 1ي=(>500 g   '.ا�;ر ;J3 ا�>�ء )*19 °C  ،yZ}� ا�>�ء )* '�<W  �I=K=Wm = 150 g  '.ا�;ر ;J3 25,7°C  �(Y~�M
  Cpeau = 4180  J/Kg.K:  ، ا��T' ا�)-ار<' �K>�ء C° 20,5  در.' �-ارة ا�=1ازن

 �ــــــــــــ�  ا�ـ�ــ�ار�ـــــــــــ	ـــ���ـ���ـا�  )ـ' �ـ��ر�ـــــ�

1 J = 1 Pa.m3 
1 atm = 1,013 bar = 1,013.105 Pa 
1 atm = 760 mmHg 
1 cal = 4,18 J 

  ا�2��2	 0�1!ي .-,	 �+�' ر��*' )�ع ھ��
	 ا���ا��ا���	 
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  ،  1��2ر<>=-Kا��T' ا�)-ار<' � أ��� �

  K.= 83,3 J calorimrteC-1   :ا�"!اب
 

 J3; ا�;ر.'  Z �I=K=Wm = 550 g>-ر 
TL' *( ا�J)�س  C°19  *( ا�>�ء J3; ا�;ر.'  �VZ 8M EK3750 g ا�1��2ر<>=- ا��ي <)=1ي ا�ن   .2
92°C   �(Y~�M ا�در.' �-ارة'�H�IJ 23,5°C  .  

  

  ا��T' ا�)-ار<' ا�JK� '�K=2)�س أ���     

  K.1-gkJ.  = 384,4 cuivrepC-1  :ا�"!اب
  

3.  '�<W 8ھ� *(  *�-وب *� ھ;>-Y5 30ا��1دا ا�6زم°C  إE�  10°C    ;�KRا� )* 'K=W ل�<T=`�	m = 25 g    �I50در.' �-ار °C .  
Cpsoda = 4180 J.K-1.kg-1   ;   Lf (glace) = 335 kJ.kg-1 

 
 

  g sodam 112,7 =     :ا�"!اب
  

 

   : - 6 -ا���ـــــــ��� 

  :S9<5 ا�>�Tد�' ا�=���' ا�=-اق ا�>�1Z�9ل
  

  :ا�=���'	�`=T>�ل ا�>�Tد]ت ا�69
' أ��� أ8Y��LZ ا]�=-اق �1Z�9�<Kل 
 
  
  
 
  
 

  kJ/mol-=  r∆H 1515,9   :ا�"!اب
 
 

   : - 7 -ا���ـــــــ��� 

SHا�>�ء ا��� -�Y=� '*ا�)-ارة ا�6ز '�<W أ���:  
  
 

 :ELT5 ا�>�Tد]ت ا�=���'                            
 
 

  kJ/mol + 44,1 =  r∆H   :ا�"!اب
 
 

   : - 8 -ا���ـــــــ��� 

1  .�=Wن أ�	و-Yد�' ا�=-اق *1ل *( ا��T* )'>8 ا�)��' ا���زM 1ا�5 125نJ63ت و ا��V=<ا�(  
  :	�`=T>�ل ا�>�Tد]ت ا�69
' ا�=���' YK-و	�نأ��� أ8Y��LZ ا]�=-اق �.  2
  
 
  
 
  
 

 kJ/mol  2043,9-=  r°∆H   :ا�"!اب
  

  

CH3OH (l) + 3/2 O2 (g)      ==>     CO2 (g) + 2 H2O (g) 

C (s)  +  2 H2 (g) + 1/2 O2 (g)    ==>    CH3OH (l)    ∆H°1 = + 638,8 kJ 

  C (s)       +       O2 (g)             ==>    CO2 (g)         ∆H°2 = - 393,5 kJ 

 H2 (g)      +      1/2 O2 (g)          ==>    H2O (g)         ∆H°3 = - 241,8 kJ 

H2O (l)      ==>    H2O (g) 

2 H2 (g) + O2 (g)    ==>  2 H2O (g)    ∆H1 = - 241,8 kJ/mol de H2O (g) 

2 H2 (g) + O2 (g)    ==>  2 H2O (l)     ∆H2 = - 285,9 kJ/mol de H2O (l) 

3 C (s)  +  4 H2 (g)    ==>     C3H8 (g)      ∆H°1 = -103,8 kJ/mol de C3H8 

C (s)  +   O2 (g)       ==>    CO2 (g)         ∆H°2 = -393,5 kJ/mol de CO2 

H2 (g) + 1/2 O2 (g)    ==>     H2O (g)       ∆H°3 = -241,8 kJ/mol de H2O 
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   : - 9 -ا���ـــــــ��� 

  :	�`=T>�ل ا�>�Tد]ت ا�69
' ا�=���' =�S2 �)>� ا�Y2-<�أ��� أ8Y��LZ ا�
  
 
  
 
  
 

 kJ/mol   kJ/mol -=  r∆H 761   :ا�"!اب
  

 

   : - 10 -ا���ـــــــ��� 
 `�8M SH ا��-وط ا��Tد<' CH2=CH-CHO ا�W-و���( 

1  .8Y��LZأ��� ا�  S2�=� ري��T<و���(ا�-W8 ا]�=-اق ا�Y��LZل أ�<T=`�	  
2  . S2�=� ري��T<8 ا�Y��LZو���(أ��� ا�-Wا� �	ت ا�-�
  	�`=T>�ل ط�

 :*LT��ت  
    

  
  
  -  8Y��LZو���( أ-Wا�=-اق ا� :     ∆H°r = -1630 kJ/mol  
  H°f (H2Oliq) = -285,3 kJ/mol∆   :  أS2�5 8Y��LZ ا�>�ء  - 
 -  �(Vز ا��: S2�5 8Y��LZأ:     ∆H°f(CO2 gaz) = -393,5 kJ/mol   
 -  �Kا�� �(VK� ;�T�=8 ا�Y��LZأ:     ∆H°sub (C (S)) = 716,7  kJ/mol  
 -   -�Y5 8Y��LZو���(أ-Wا� :     ∆H°vap (C3H4O liq)  = 20,9  kJ/mol  
 

 kJ/mol  121 -=  ) liqO 4H3C(f ∆H         ،91,8  kJ/mol -=  ) liqO 4H3C(f ∆H         :ا�"!اب
  

 
   : - 11 -ا���ـــــــ��� 

   :�S3�V=K ا�=��H°r,298K  8∆   <'أ��� ا�8Y��LZ ا�>T��ر
  
1 . '�K7ا�;ا '
�Lا� '<�
 �=J=`ا∆U S3�V=K�  
  ھS ھ�ا ا�=S3�V *�ص �K)-ارة أم K� -��Z)-ارة. 2
 CH4و  H2و  ELT5CO ا�8Y��LZ ا�S3�V=� '�`��d ا�=-اق   

  
 
 
 
 
 
 
  
  

 °kJ 5,220-=  r,298 ∆H°         ،kJ 4,2020-=  r,298 ∆U         :ا�"!اب
  

  

C-C  C=C  C-H  C=O  O=O  H-H  liaison  

– 340  – 620 – 415  
– 720     et    

– 804 à CO2  
– 498  – 435  E (kJ/mol)  

SO3 (g) + H2O (l)     ==>    H2SO4 (l)          ∆H°1 = - 80 kJ/mol 

S (s)   +  3/2 O2 (g)    ==>    SO3 (g)             ∆H°2 = - 395 kJ/mol 

H2 (g)   +     O2 (g)      ==>   H2O (l)            ∆H°3 = - 286 kJ/mol 

CO (g) + 3 H2 (g)      ==>     CH4 (g) +  H2O (g) 

CO (g) + 1/2O2 (g)     →    CO2 (g)           ∆H°r,298K (1) = -283 kJ 

H2 (g) + 1/2O2 (g)       →      H2O (g)              ∆H°r, 298K (2) = -241, 8 kJ 

CH4 (g) + 2O2 (g)   →   CO2 (g) + 2H2O (g)           ∆H°r, 298K (3) = -803, 2 kJ 
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   : - 12 -ا���ـــــــ��� 

 8Y��LZا]�=-اقأ��� أ   ∆H°r,298K  �����Wا� �<(�  �Kا��(C2H2O4  , s)  '.ا�;ر ;J325°C 1يRا� ��yا�  
ELT5 :  

  
  
  
  

  molkJ 1= 75 r°298∆H/     :ا�"!اب
   

 

   : - 31 -ا���ـــــــ��� 

-Y=TJ� �9ن ا�=-اق>tا   C2H6 (g)  '.ا�;ر ;J325°C 1ي وRا� ��yا�:  
 
 
 

  S2    ∆H°f,298 (C2H6, g) اt<�9ن ا���زيا`=J=� ا�)-ارة ا�>�1�' ا�>T��ر<' �=�
  

ELT5 :  
  
 
  

  kcal.mol-g) =  ,6H2(C °298f∆H 19,2-1        :ا�"!اب
   

 
   : - 14 -ا���ـــــــ��� 

 :إ��� ا�=S3�V ا�=��8
 

  

6
' ا�=���' Tأ��� 	;]�' در.' ا�)-ارة . 1T��	 8 125نH��<�W د-M S2� '>ا�)-ار 'Tأن ا�� �<K3 إذا S3�V=8 ا�Y��LZأ:  
 

  :ELT5 ا��T' ا�)-ار<' ��YW-<Kت ا�=���'
  .67ل *�Rل ا�)-ارةVZ-ض 	�Z_ ] <1.; 5)1ل �K>�دة 

  

  kcal.  2T6 -T + 8,04.10 3-15,36 .10–18,22 -=  T°∆H      ا�"!اب
 

  

 *�= )3 )�Kd	IyT>� ا��TY 2و  1ا�HQR�(              : - 15 -ا���ـــــــ��� 

1. S3�V=ا�-Y=TJ� 8��=أن  -   :                                                ا� �<K3 إذا:       

 

 . *h 15¢�¡ ا�)��' ا]	=;اH�' و ا�)��' ا�H�IJ�' أر`� ا�>��L ا�>1اS3�V=K�  M ا���	   ) أ
 �S3�V=K ا���	    H°r 298K∆أ���   ) ب

 
2.  �2V=� '�K7ا�;ا '
�L1 أ��� �5�- ا� mol  ;J3 ت ا����2�1م�Z1	-W )*0°C   

  :<ELT .;ول أY��LZ��ت S2�5 ا�>-�YWت ا�=���'

 


�	� ا���زات ا�>��9�'   :  R = 2 cal/mol 
 

Kcal 1523,-=  U∆23,52 Kcal/mol    ;    -=  298       :ا�"!اب
°∆H 

CaO  CO2  CaCO3   �W-<ا�  

- 152  - 94,3   - 270  ∆H°f (Kcal)  

∆H°f,298K (C2H2O4, s) =  -1822,2 kJ.mol-1 

∆H°f, 298K (CO2, g ) = -393  kJ.mol-1  

∆H°f, 298K (H2O, l )= -285,2  kJ.mol-1 

C2H6 (g) + 7/2O2 (g) ==> 2CO2 (g) + 3H2O (l)   ∆H°r,298  = -373,8 kcal 
 

C (graphite)  +  O2 (g)        →      CO2 (g)         ∆H°r,298 (1) = -94,05 kcal 

H2 (g)  + 1/2O2 (g)     →         H2O(l)      ∆H°r, 298 (2) = -68,3 kcal 

 

Cp (N2,g) =  6,85 + 0,28.10-3 T 
Cp (NH3,g) =  5,72 + 8,96.10-3 T 
Cp (H2,g) =  6,65 + 0,52.10-3 T 
 

N2 (g) + 3 H2 (g)      →     2NH3 (g)          ∆H°r,298  = -22,08 kcal 
 

SO2(g) + 1/2O2(g) → SO3(g)  
         

S (s)  +  O2(g)  →  SO2(g)        ∆H° 298K  = -70,96  kcal/mol 

S (s)  +  3/2O2(g)  →  SO3(g)   ∆H° 298K  = -94,48  kcal/mol 

CaCO3 (S)     →      CaO (S)  +  CO2 (g) 




���	 ��ـ�ر�ـــــــــ�             /   ا�ــ���ـ��ـ�ــ�ـــــ�  ا�ـ�ــ�ار�ــــــ	/  ھ��
ــ	 ا��ـ�ا��                                                                                                                               .  
  

5 

   : - 16 -ا���ـــــــ��� 

 )�K�9>[ا�=-اق ا S3�V5 )2��: 
 

  

  :	�`=T>�ل أY��LZ��ت ا�=�S2 و ا�=��YW-<K� ;�Tت ا�=���'
  
  
1 .�K�9>6� S2�=8 ا�Y��LZا���زي (أ��� أ  
  8M  )�K C2H4 ا]<�C=C �9ـ    أ��� ط�
' ا�-	�. 2
 

 ELT58��=ول ا�;R8 ا�M �	-ت ا��
  :أY��LZ��ت ط�
  

C-C  C-H  H-H  Liaison 

- 263,3  - 413,8  - 434,7 E (kJ.mol-1) 

 

  g) = 33,6 kJ.mol 4H2(C f,298;   ∆H°   1-611,8  kJ.mol -=  (C=C)E,-1    :ا�1Rاب
   

 
   : - 71 -ا���ـــــــ��� 

  . J3298 K; ا�وW=�ن ا���زي  �=�S2أ��� ا�8Y��LZ ا�>T��ر<' . 1
 .�K)-ارة ، ھS ا�=S3�V *�ص أم ��Z-]�=-اق ا�وW=�ن ا���زي أ��� ا�8Y��LZ ا�>T��ر<'. 2

 :*LT��ت
 ∆H°d (H-H) = 436 kJ/mol    ;   ∆H°sub (Cs) = 717,6 kJ/mol  

  

C-C  C-H  Liaison 

-345 -415 E (kJ.mol-1) 

  

CO2 (g)  H2O (g)  �W-<ا�  

-393,5  -241,83 ∆H°f (kJ/mol)  

 
   ∆kJ/mol-=  )18H8° (CfH∆kJ/mol        ;        3, 2509-=  comb° rH 227,4     :ا�"!اب

    
  

��  :���18 ـــا�
  

 -  S2�=� '�`��d8 ا�Y��LZ1أ��� ا�    ��=W61ل *( �>� ا�*CH3-CHOH-COOH  ن إ�-اق�	 �<K318g  -�J> �<(ھ�ا ا� )*
272,54 Kj  ;J3 '.25 ا�;ر°C 1يRا� ��yو ا�. 

ELT>:  
  
  
  
  

  ∆kJ/mol-) = 3O6H3° (CfH 686,72:  ا�"!اب
  

------------------------------------------------------------------------------------ 
 
 

∆H°sub (C, s) = 171,2  kcal.mol-1 
∆H°f,298 (CO2 ,g) = -393 kJ.mol-1 
∆H°f,298 (H2O ,l) = -284,2 kJ.mol-1 
 

C2H4(g) + 3O2(g)        →    2CO2(g) + 2H2O(l)      ∆H°r,298  = -1387,8 kJ/mol 
 

C (s)       +       O2 (g)             ==>       CO2 (g)         ∆H°1 = - 397,31 kJ/mol 

 H2 (g)      +      1/2 O2 (g)          ==>     H2O (l)         ∆H°2 = - 285,83 kJ/mol 
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�� :���19 ـــا�
 

   298Kا�R;ول ا�=��Y> 8�( ط�
�ت ا�-	� J3; در.' �-ارة   .1

  
8Y��LZا�=��8 أ��� ا� S3�V=K� 8`��dا�:  

  
  

  :�S3�V=K ا�=��'  C-F 8	Lاأ��� ط�
' ا�- .2
  


�� ط�
�ت ا�-	� 8M ا�R;ول ا�=��8 ELT5:  

  
      °8M )�=VK=�* )2�E = - ∆Hd ا��tرة    °Hd∆��5وي ط�
' ا�=E  �2Vط�
' ا�-	�   :�Aح?	

  
    °kJ/mol                               5,148 -=  F-C;        E          = 71,4 kJ/mol ,298 r∆H:ا�"!اب

----------------------------------------------------------------------------------------  
  

��   :���20 ــا�
  

8
�>' ا�=��- Mأ���  .1   ;J3 ري��T<8 ا�Y��LZ298ا�K 8��=ا� S3�V=K�   :  

ELT>  :  
  
 
  

    °kJ/mol                                = ,298 r∆H  190,4ا�"!اب
--------------------------------------------------------------------------------- 

��  :���21 ـــا�
  

1.   S2�=� ري��T<8 ا�Y��LZأ��� ا�H2O2  '���=63ت ا��V=ا� )* �
6LZا:  
  
  
  
  

أ��� �-ارة     ،   H°f, 298 = - 68, 3 kcal/mol∆     ��5وي    C°25إذا K3>� أن �-ارة ا�=�S2 ا�K� '�*�¦J>�ء ا���J3 SH; ا�;ر.'  .2
  ;J3 S2�=100ا�°C.  

ELT>                               :Cp H2 = 6,89 cal/mol    ;  Cp O2 = 6,97 cal/mol   ;   Cp H2O = 18 cal/mol    
 

   °kcal/mol  4,574 -=  f, H2O2∆H°67,156  kcal/mol            ;          - = ,373K f∆H                             ا�"!اب
------------------------------------------------------------------------------------ 

 
 

	�Bا��ا  EC-C  EC-H  EC=C  EC-O  EO-H  

E (kJ/mol) - 342,5  - 412,3  - 612,8  - 356,0  - 426,6  

	�Bا��ا  EC-H  EH-F  EF-F  

E (kJ/mol) - 412,6  - 562,6  - 153,0  

C2H5OH (g)       ==>      CH2 = CH2 (g)   +  H2O (g)      ∆H°r,298  = ? 
 

CH4 (g)  +  4F2 (g)    ==>  CF4 (g)    +   4HF(g)      ∆H°r,298  = -1923 kJ/mol 
 

2Na2O2 (s)  ==>  2Na2O (s) + O2 (g)   ∆H°r,298  = ?  
= ? 

∆H°f  (Na2O2 (s) )   =   - 513,2  kJ.mol-1 
∆H°f (Na2O (s))   =   - 418,0  kJ.mol-1 

 

2H2 (g)    +  O2  (g)     ==>   2H2O (l)             ∆H°1 = - 136,8  kcal/mol 

 H2O2 (g)       ==>    H2O (l) + ½ O2  (g)         ∆H°2 = - 23,83 kcal/mol 


